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CEFEY O FREFIMER > FwE TR
D s BB EF i F %% 7 [64]
QF i AP HF i F2 KA RRP? [64]
@FmF L2 FF k> BEEMF RPnif oo BEF R S 2 [154]
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(142~ 0.681 5. cn KHP(3 2 & £ 204.22 g/mol)is -k t5 » 12 NaOH i3 % jf =2 > i 3|
B E R 2 36.78mL s NaOH 3% » 328 NaOH Bk & ® 2 (KHP &- &
F+eapk) [54]

(2)c kB m A S 118g/mL> £ F 4 5 38% > Fart kA AE 2.0M h @
Faip e 250mL > ¥R & B~ § SR ML)k B p? [5 4]

(3)0.1510 M NaOH ;% ;% 62.0 mL » ¥ 12 ¢ 4 50.0mL ik HoSO4 0% 0% @ 3R Fiphiz ik
kR A PO M? [64])

(473 - = (1L)2.0 M = p& HAc(acetic acid Ka =1.8 x10°°)» 4% fie s pe fopis fe 40 NaAc
B 8 BF5 R (B A 7 %)(Na:23g/mol > logl.8 = 0.255)
aER &S 50 NaOH ? [5 4 )
btz RkampHELZ @ 2?2 [6 4]
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Dis e f = et ? [54]
@713 LR F L SR F AL 2 [155]
(3)F % F MBGRRF@eiF 2 2 [54]
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- k3 F % (voltaic cell) ¢ NaHSO4~H,SO3~MnSO,-kia i 2 if & & B fmdrie o
LR doT:
HSO4 (ag + 3H ey +2¢ — H,S0309 + H,O0  E®=0.17V
Mn** g + 2e — Mng) E°=-1.18V
LFF M kFF 2 PRI Rt Bt iz s @) [54]
(2)s#2 3, — it § HSO4 agf HoSO3q) 2 T # & BT &7 [5 4]
(3)fr % & 15 1&(anode) ? i 5 & (cathode) 7 [5 4+ ]
(4)&‘3&1 SRR =N ﬁ’”’” w o [5 4]
BN R T B v 2 ? [54]



